BARNES Series 10CCE, 10CCE-1

Universal/Electric Driven
www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

MODEL PART NO.

10CCE 028506

10CCE-1 028504

@ PumpCatalog.com Questions?|Call 1-800-810-1053
®

I Continued >

SECTION 4E
CRANE PUMPS & SYSTEMS e g
® DATE 2/17
A Crane Co. Company USA: (937) 778-8947 + Canada: (905) 457-6223 -+ International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/
https://www.pumpcatalog.com/barnes/cce-series/10cce-1-odp/
https://www.pumpcatalog.com/barnes/cce-series/10cce-odp/

ersiocicoren BARNES

www.cranepumps.com

BARNES * PROSSER - CROWN SERVICE PARTS

PARTS KIT
Seal Kit ................ P/N: 072920 (1) 3,4,8,9,10,11,16,17,22C
PARTS LIST

ITEM QTY. PART No. DESCRIPTION
1 1 028495 Motor - 10CCE  200-230/460, ODP

1 028494 Motor - 10CCE-1 230, ODP

1 036770 Motor - 10CCE  200-230/460, TEFC

1 028494F Motor - 10CCE-1 230, TEFC
2 1 019537 Intermediate Coupling
3 1 005163 1 Slinger
4 1 017713 1 O-Ring
5 4 002266 Cap Screw 1/2-13 x 1.50” Lg, Steel
6 4 002608 Lock Washer 1/2” Steel
7 1 137242 Base, 10CCE

137242 Base, 10CCE-1
8 1 018071 % Shaft Sleeve
9 1 019146 1 Shaft Seal C/NR/B
10 A/R 001349 1 Shim, .010
11 A/R 001348 1 Shim, .031
12 1 019775 Impeller
13 1 019802 Hex Hd Screw 1/2-20 x 1.00” Lg, Stainless
14 2 019803 Washer, Shakeproof 1/2, Stainless
15 1 019069 Volute
16 2 017715 1 Pin, Volute
17 1 019245 Gasket, Volute
18 1 019135 Body
19 3 016569 Stud 3/8-16 x 1.75” Lg, Steel
20 7 028408 Lock Washer 3/8”, Steel
21 3 15-23-6 Hex Nut 3/8-16, Zp
22 1 017718 Check Valve Assy.
22a 1 001338 Weight 2.25"0.D,, CI
22b 1 001339 Weight 1.56” O.D., CI
22c 1 017712 1 Gasket Neoprene
22d 1 20-13-1 Lock Washer 1/4”, Stainless
22e 1 023469 Round Hd Screw 1/4-20 x 625” Lg, Stainless
23 1 018100 Suction Flange
24 3 002222 Cap Screw 5/16-18 x 1.75” Lg, Steel
25 1 003206 Pipe Plug 1.25 NPT
26 1 003204 Pipe Plug 75 NPT
27 4 15-23-6 Hex Nut 3/8-16 Zp
28 4 002234 Hex Hd Screw  3/8-16 x 1.00"Lg, Stainless
Order Online: www.PumpCatalog.com
End

Ao 4 CRANE | PUMPS & SYSTEMS

DATE 2/17

A Crane Co. Company  USA: (937) 778-8947 - Canada: (905) 457-6223 - International: (937) 615-3598


Manufacturer's Edge
Draft

https://www.pumpcatalog.com/barnes/



